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1 [#=100 % 7 - 58 2t T v 2,000 ke| Wi ¥
2 |£F400 4 80 - 672t rTvs (O -MD) 2,000 keg| rh3I X
3(#F 11 B 95 - 83 |MEBHR/N-V(QtEH) 2,000 kel Wi N
4 |&F 100 & 73 - 98 |/EBEHAIV-V (3t H) 3,000 kg| ha# ) . B
WMERYZE2EAL
5 (&% 100 &» 25 - 78 |/MEBHRIIN-VAtEH) 3,250 ke| =2& BRE K
— M THREERBS L
6 |&F 100 = 60 - 77 [IEBBHRIV-ULE) 2,800 ke| HEF
7 |BF 100 = 27 - 90 |EHEEMmE(V-VA) 9,900 ke| HE ®wE
8 |HF 11 B 96 - 01 |mskEEfvrEmE 2,000 kel W&
o . . s ErEREmEERL SV
9 [#F 100 & 25 - 07 |BEEEMHEAE 3,750 ke| Wy N T CER TR i
10 |[#F 100 2> 35 - 06 |BEk@EftarrEmE 7,200 ke| BE
11 |#F 100 2> 35 - 12|massmit=m#msl 7,900 ke| BE | BE |wEsr rmm L
L Sy
12 |2F 100 > 40 - 51 |mEEEdurERE| 10,700 ke| BE =y i
13|#F 100 2> 48 - 29| = FEHEMEE| 12,000 ke| HE BwE | RKEEEX= T
14|5F 46 & 15 - 69 "7 (2t H) 2,000 keg| Wi ¥
= bt HERY 7 558 L
15 [#F 100 ¥ 10 - 22| X7 (4tH) 3,750 keg| =2 mWE  |BEEER
\ - ¥— MTCRERBA Ik
16 |&F 100 2> 48 - 56| ¥ 7 (10t E) 9,800 ke| BE e
17 |#%F 100 2> 43 - 46| #2710t FEH) 9,400 kg| == REFEHNN=TF
18|&F 800 3 46 - 98| EEFEH(4tH) 1,650 ke| HBE BE
19 |#F 800 ¢ 45 - 12| EEIF = (REFMT) 950 ke| BEE
20 [2F800 4 62 - 41| EREMAtH) 2,550 ke| HEF
VAR -3k kil
21 £+ 800 4 55 - 98| ERHE(AtH) 3,600 ke| HEF wWE
22 |#=F 100 & 95 - 06 SEER 2,950 kg| HE wEe |FE
23
24
25
26
27
28
29
30

AR NEEI AN




